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Question: | [K, (NH4OH)=1x10-5, log 2=0.30, log 3=0.48, log 5=0.69, log 7=0.84, log : y’p]
11=1.04
A: 3.2
B: 4.2
C: 5.2
D: 6.2
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100065
Question MCQ

Type:




e Mewrd AL T e
§ QU I -y

Cu (D) Nj(g) +3Hx(g) — 2NHs(g) (A)

Question: Cu/ZnO-Cr,05 (1)  CO(g)+3Hy(g) = CHy(g) + H,O(g) (B)

Fe,Oy+ K0+ AlO5 () CO(g) + Hy(g) - HCHO(g) (C)

Ni (IV) CO(g) +2Hy(g) — CH;OH(g) (D)

 EE N2 e ST
A (A) - (1), (B) - (IV), (C) - (1), (D) - (III)
B: (A) - (D), (B) - (I), (C) - (IV), (D) - (III)
c: (A) - (1), (B) - (IV), (O) - (1), (D) - (II)
D: (A) - (1), (B) - (D), (C) - (IV), (D) - (II)

Topic: Chemistry-Section A

Iltem No: 66

Question ID: 100066

Question Type: | MCQ

Question: : .‘L.,.;A'jr‘Uai IUPAC Wgﬁ&ﬁg@w [Rn] 5f14 6d! 7s2

A: ﬁd',u [

B LS

c: SN2

D: ("; 5901

Topic: Chemistry-Section A

Item No: 67




Question ID:

100067

Question Type:

MCQ

() et Al 8 O (e P e Ul eIl b

CaO (A)
FeO (B)

Question: ALO; (©)
ZnO (D)
NiO (E)

L2 B Kylﬁé::.. Sl

A (Q), (D) 3

B: (A), (B), (E) <~

c: (A), (B) </

D: (B) <

Topic: Chemistry-Section A

Item No: 68

Question ID: 100068

Question Type:

MCQ

question: |+ et UG QI E AL ey Sl H,0,
A Mn2+

B: Mnd+

c: M3+

D: Mnb+

Topic: Chemistry-Section A




Iltem No: 69

Question ID: 100069

Question Type: | MCQ

Question: . i.f 4 K_g'}wﬁd/mﬁfgu?w vﬁ'l

A: Li<K<Na<Rb<Cs
B: Li<Na<K<Rb<Cs
C: Cs<Rb<K<Na<Li
D: Li<Na<K<Cs<Rb
Topic: Chemistry-Section A

ltem No: 70

Question ID: 100070

Question Type: | MCQ

?.;:_.gdﬂfjfc{.u)uﬁd 'B' ;l_.‘f’byc‘i_.;.iéu"bjc'./_gti

Question: BF; + NaH —22U8 A 4 NaF

A+ NMe; — B

S

B: f}.

o b

D: 5y

Topic: Chemistry-Section A
Iltem No: 71

Question ID: 100071

Question

Type: MCQ

Question: | S S I AT L rnpd L JOAL bt Pt




. s )
A: ™ LL"D;;
B: Lkt
C: ..b;kﬁ;
D: O sz
Topic: Chemistry-Section A
ltem No: 72
Question ID: 100072

Question Type: | MCQ

Question: ?li'ﬂuﬁfiﬁr‘lfufjl""&{;;’
A: NO

B: NOQ

C: 502

D: HCHO

Topic: Chemistry-Section A

Item No: 73

Question | 100073

1(?}l/.lpees:tion MCQ




'a' ce b D i B LIPS AT AL Y X SO A
e M2 Poe a§FSL
G
Ly a+0=C-CH,—C—-CH;
CH;  CHy I
| | CHj
Hzc=C—CH2—C—CI_IB
Question: (IZH (I:HS (|:H3
3 L;l:urozc:—cHZ—(|:—c:H3
CHy
IA1 ‘?f':f
UL Y X
A: dil. KMnOy, 273 K s/ KMnO,/H™*
B: KMnO,/H* sl KMnO,(dilute), 273 K
c Os, H,0/Zn s KMnO,/H +
D: KMnO,/H* s O3, H,0/Zn
Topic: Chemistry-Section A
Item No: 74

Question ID: 100074

Question Type: | MCQ

_.g:;.gg.“laﬂf%rgu&};q iéu"b’wégti
OH

Question: (i) HyC @ 50,C], Pyridine

(ii) NaCN, DMF




s asEpe

Topic: Chemistry-Section A

Iltem No: 75

Question ID: 100075

Question Type: | MCQ

Question: ia/ug}wywﬂéglwbﬂl ?IUPL;JHHJ/LQLLWHLLtJU::JBfJJ




A Cl H, H
>
Pd.BaSO,
O
CN
> (i) DIBAL-H H
»
(i) Hy0
O
CO5C;Hx
C: . 3
(i) AlH(iso Bu)zr H
(i) H,O
O
> OH (i) NaCr07 H
(i) HySO4, HyO
Topic: Chemistry-Section A
Item No: 76
Question 1 100076
Questi
T;Jpees on MCQ
(CsHsNO,) C A rpl JeJulid e —a bl B S ppl Spfoll & SJIGENH, ‘A Qlet L
Question: | gy M (FUIG Ay g },‘«"gfjvi EaiLE . KOH A 1JGhos6C S r —e b
N
CHO
A

L




CHO

COOH
COOH
COOH
CHO
OH

Topic: Chemistry-Section A
Item No: 77
Question ID: 100077

Question Type:

MCQ

Question: .1 b[flgcyifﬁd/dl?}dkdiudf
H,N NH
2 YN\”/ 2
N N\T/ N + HCHO
NH,
H-N NH
YU
5. N N + HCHO

~

NH,




H,N NH,
+ HCHO
C:
NH,
NH
/ -
+ HCHO
D: N S
NH,
Topic: Chemistry-Section A
Item No: 78
Question ID: 100078
Question Type: | MCQ
= - * = . 5
Question: £ J{._. Juﬂvé. =3 Ve o J’" 5 el Jﬁifj d/ O3
A d / I _;
B: d J i;?
C: d /:5 ¥
D: S
Topic: Chemistry-Section A
Item No: 79
Question ID: | 100079
Question
Type: MCQ
Question: ?,‘a_ L‘LJ:%- t'l.g[.;U ngj_fd/b&fr ko 29 'iufr Kd;jzf,gjt;éi}: quﬁ.f;ﬁlu
A 2]




B: e S
b e
C: < )
D- 4 b
: Ll L (5%
Topic: Chemistry-Section A
Item No: 80
Question ID: 100080
Question Type: | MCQ

: @Z;;&u‘g
—e b p A eSSt $Us A S FL KHSO, ¢ 1k

Question:
e b bl Sz S A e U5 i S 1 1 e
_EE_PW N ene e UL LI T e bkl s
A: _.{_,E'n.*:.-u-uj M-k s -k LJ'J}}:
B Ut i3 Mol 31 Tmle U
C: _..‘;.‘_):'.f;.;;.w;j | | U] .g’n:"_.:-«f;; I-gk
D: s -yl .,é.;_ufwﬂ | U
Topic: Chemistry-Section B
Item No: 81
Question ID: 100081

Question Type:

Numeric Answer

Question:

sy AISE AL S St IS s

[

No, Not, Ny ™, Ny2 ™, 0,5, 0,1, 0,7, 02~

Topic: Chemistry-Section B

Item No: 82




Question
ID:

100082

_I(?;pees:tion Numeric Answer
s —393.5 K] mol 1 «—2220.0 KJ mol~ 1 o AL BISS 718eP 5 Bsmes 6oy £ 298 K
Question:
(Wl > kJ mol - LIS Sk S (CsHg) efag-< —285.8 k] mol !
Topic: Chemistry-Section B
Item No: 83
Question
D: 100083
_?;pees:tion Numeric Answer
_Bw x10~1 atm ipgs’uﬁ?? gy b‘?{aﬂ],.;wdlg Koiz-< 4 atm ;pwﬁ?.g{ 27C
Question:
(-= 0.4 atm 3LsUEE L, 27°C: 1)
Topic: Chemistry-Section B
Item No: 84
Question
D: 100084
1Q_ue§tion Numeric Answer
ype:
—< 0801V $6263s 2L Zn|Zn2+ (aq)|[Sn¥+| Sn 4 298 K
Question: ..J!E :lﬂd/u";}.‘jlv"ﬁ@c;lédnf.&{}glzé,:_‘alo =2 w8 KJH‘&LJ@UL@&
303 ( _
=R _ Gosw o E ., = +0.008 VrEZni'Fﬂn = - 0763V . (7|,
Topic: Chemistry-Section B
Item No: 85
Question
D: 100085
Question

Type:

Numeric Answer




% 250 Torr 33696 500 Torr SodLabtes « 2405 Joiidd Lz #L A S5
Question: _by b e Jﬂ 4.0 min fﬁ..é-zj?
IR0 Wl
(.T,Ii.’uf:ﬁ éf )
Topic: Chemistry-Section B
Item No: 86
Question ID: | 100086
_?;pees:tion Numeric Answer
: L):/Lf/;gﬁvd Lﬂ’)LJu.;
[Co(NH3)g]> *
[CoCI(NHS)5]>*
Question: [CD(CN}6]3 _
[Co(NHg)5(H,O)P *
- 3 ‘:. s -
_§x BM ettt M eSSl mter i
Gug 7 2)
Topic: Chemistry-Section B
Item No: 87
Question
D- 100087
_?;pees:tion Numeric Answer
LFI L TRttty e L RS SR e Ut Cr2* sl V24, T2+, Co3+
Question:
(s 5z }) -€vBM ..:.:»r&-bl:-i'»
Topic: Chemistry-Section B
Item No: 88

%?GS“O” 100088




Question

Numeric Answer

Type:
Lol Sd sl o 025 g £t dirtuimd e L Pafonr bt pltd L3 bk
Question: e 38 25mL £ 2 M H,80,
_Ex o6 }’t:ﬁruf‘._f"/aww
Topic: Chemistry-Section B
Item No: 89
Question ID: | 100089
1Q_;pees:tion Numeric Answer
Question: | _ Ly NS sp3 Ut e CiHEN b UL 6 A ) 2 LT
Topic: Chemistry-Section B
Item No: 90
Question ID: 100090

Question Type: | Numeric Answer

Question:

H;C 5
fi
» OBt 4 »
- FA
3 R i T S g S ’
e F 13
e

I
[« Bt = -CHs -£]

Lt ] JIJL;]JL'}:JKV{L{’;A;U: A a;‘(jilw




